[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

(%] - P %] [%]
] ] ]
E g
©10° © ©
&0 3 §
=
=]
=l
10?
10™
1
8 pe]
I N H T
o St o
0.8 PR
0 2 4 6 8 10 12 14 16 18 20 8 10 12 14 16 18 20 16 18 2
track x2 track x2
—_— TeeNtmE - RECO—— o
N of reco track vs.{ ———— EHHE%-ClheCEB%ImﬁﬁSE
0 (%] 12}
x L - x b X
[=] [5} [=]
g g ]
1 210° 2
= 81
10? 10?
k=] 8 L8
3 3 3
4 o 04

© 2 4 6 8 10 12 14 16 18 20



	Contents
	Page 1


